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1994 2007 14
Y1( ) 4-6 ( )
Y2( ) 100kg/ ()
X1(3 ) 3 1 ( )
X2(3 ) 3 (mm)
X3(3 pl ) 0-20 3 (ml/m®)
X4(3 ) 3 10m ()
X5(4-6 ) 4-6 (mm)
3 pl 3 3
4-6 (R?=0.851,P<0.001)
Y1=8.878*X1+20.610*X2+54.207*X3+0.448*X5-1378.89
( pl ) (
) ( ) ¢ D
3 X1 X4)
( D 3
4-6
4 X1 X4)
(R?=0.869,P<0.001)( 2)
Y2=-0.316*X1-3.136*X2-1.292*X3-9.251*X4+289.892
3 ( 2



1 2
X1(3 ) 8878 0593 4518* X1(3 ) -0.316 -0.342 2634*
X2 (3 ) 20.610 0.299 2223 X2 (3 ) -3136 -0.739  5.965 **
X33 pl ) 54207 0.659  4902** X333 p ) -1.292 -0255  1.994
X5 (4-6 ) 0448 0234 1782 X4 (3 ) 9251 -0.253 1967
**  P<0.01 * P<0.05;** P<0.01
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Y 1'=9.092* X 1+17.511* X 2+55.294* X 3-988.244
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